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QUESTION 1

NetApp is in the Leadership quadrant of the Gartner Magic Quadrant for Mid-Range Enterprise Disk Arrays rating of
storage vendors. This is their highest rating and pertains to _____. 

A. strategic business partnerships 

B. financial stability 

C. completeness of vision and ability to execute 

D. world-class service and support 

Correct Answer: C 

 

QUESTION 2

Which three customer situations indicate an opportunity exists for consolidation or file services on NetApp storage
technology in a Windows environment? (Choose three.) 

A. The customer\\'s existing Windows environment is complex and contains multiple servers. 

B. The customer needs data privacy and intellectual property protection. 

C. The customer requires simplification of backup and recovery procedures. 

D. The customer requires identification, understanding, and classification of data. 

E. The customer needs to reduce administrative and overhead costs. 

Correct Answer: ACE 

 

QUESTION 3

Most Oracle customers require large development environments and they are concerned about the amount of storage
required to support them. Which statement defines the NetApp value proposition for this situation? 

A. NetApp FlexClone provides the ability to almost instantly create development environments without using additional
storage capacity. 

B. The NetApp Unified Storage approach allows customers to use both primary and secondary storage for
development. 

C. The NetApp scalable storage architecture allows customers to dynamically grow database environments at their own
pace. 

D. NetApp SnapVault uses less storage capacity when creating a development environment. 

Correct Answer: A 
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QUESTION 4

What differentiates NetApp from its competition? (Choose two.) 

A. NetApp storage systems share a single architecture across the product line. 

B. Snapshot technology allows customers to back up to tape. 

C. NetApp supports Fibre Channel and Serial ATA disks in the same array. 

D. Unique features such as RAID-DP and thin provisioning are standard. 

Correct Answer: AD 

 

QUESTION 5

What are two benefits of RAID-DP? (Choose two.) 

A. protects against double-disk failure 

B. provides real time data mirroring 

C. accommodates larger RAID groups 

D. increases resiliency by providing single parity 

Correct Answer: AC 
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